AT

AUTOGRIP MACHINERY

SD

VENEUFE
R | 3T

- WML - SFERSEHAMITRE - ol REEESF -

- ORI LHHERXRFSHEEN - F LA DFAEMEREER -

'E%ﬂﬁﬁ%fb%ﬁﬁ@zﬁﬁ—%*EJ’E’?H*M@ - FRIHABE - BRESXISBESWAHE - E5&81)
i -

* 5B FEERASHITIOL -

* SEH(ER) -

AR

MTRER) RN KFF B =/ kFF B RAXFN-5E RAFRR H-HE RAFERAEN-SE RAFEREA-HE =IEEREN ESHHEE
(mm) (mm) (mm) kN (kgf) kN (kgf) MPa(kgf/cm) MPa(kgf/cm) kgf/cm? lit.(EAE 6.0 kgf/cm?)
SD-304 5 10 18 5.0(510) 10.9(112) 0.6(6) 1.3(13) 2 0.26 8.1
SD-306 7.2 165 35 1.5(1173) 25.0(2550) 0.6(6) 1.3(13) 2 0.58 20.6
SD-308 72 210 28 21.7(2213) 47.0(4793) 0.6(6) 1.3(13) 2 1.02 341
SD-310 10.8 254 40 36.0(3680) 60.0(6118) 0.6(6) 1.0(10) 2 2.05 55
K~F
ke = S 6~W
e WMLl = - 4~0K
| —¥ i i ¥} ':,! ’ »
yeml= - ir o
& | > 6~J1 HSoh N 2
2 C "h 2 ‘¥
i £ , "‘:@ 1 8
Q -l = : i
€8 g. — ! < 57 = T 4
— VR 2 v, 5
.,_ e G _"*' (.0
3~G ey, o
€= & i _ r =2
Q}‘ ! > ] . ,_) ;
! _ .O |
F
| |13.5 2~RC1/4” BAPAER L Eﬂ L
11 m 1
27
g 75 - A e - 45 -
40 RC1/8" E R Z AN, 70 (RS (SAFV-01)
B — -

aom | Lo | oL L e
148 110 130 35 2 15 M3

SD-304
SD-306
SD-308
SD-310

206
248
300

165
210
254

93.5
116
122
151

188
230
280

TREE A AN

52 7
65 10
75 12

18
18
20

M4
M5
M6

10

225 M5x0.8 19.5 34.5
35 20 MBXI [l 45 35 31 70 27 57.8 54.2
45 25 M8x1.2 [l 56 46 4] 84 31 70.8 S
55 30 M8x1.2 13 65 50 46 100 38 85 79.6

42
5T
62

9 30 23 52 19 37 27 25

35
40
50

795
104.5
125.5
147.5

110.5
1395
160.5
182.5

3~M10
3~M14
6~M12
6~M14

M8x1.25
M10x1.5
M10x1.5
M12x1.75

WWW.AUTOGRIP-MACHINERY.COM

AUTOGRRIP


https://www.autogrip-machinery.com/proimages/products/Stationary-Chucks/Pull-Back/SD/SD_img.jpg

